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The natural and integer sets are discrete.
The rational, irrational; (real-algebraic) and real number sets are continuous.

How to describe a set of numbers without using words (inputs or outputs):
Mathematicians use notation to describe a functions domain. There are two possible
methods.
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Notation description: Example:
Set notation: Generally used for N and
y/

Bracket notation: Used only for R




For each of the following, identify:
a) Domain,
b) Range,
c) maximum and minimum values

d) intervals where the function is increasing,
e) intervals where the function is decreasing,
f) intervals where the function is constant,
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Lesson
Plot 1-variable Inequalities

Solutions to Inequalities







Lesson
Solving 2-Step Inequalities
Solving Multi-Step Inequalities
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Advanced Graph Analysis

Numeric Algebraic Graphic
X fx)
4 3
-3 -1.5
-2 0
-1 1.5
0 3 3
2 6
3 7.5
A 9 1
) 10.5 1
0 12 X: 0.652 F1(X): 3.978 |

Given the multiple representations of f(x), answer the following questions. Your answers should be the domain
values defined using bracket notation. See the example below.

Example: Solution:

Where is f(x) > 0? My Thinking you don’t need to write this: “I can see in the f (x) column
that f (x) = 0 when x = —2, so x must be greater than -2 for f (x) to
be greater than O... on the graph | can see the line is above the x-axis
to the right of -2... I'll use a parenthesis because > means that it does
not include the value...”

Answer: (—2, OO)

1. Whatis f(2)? Answer:
2. For what values does f(x) = 0? Answer:
3. What is the x-intercept of f(x)? Answer:
Hint: when is f(x) = 0?
4. What is the domain of f(x)? Answer:
5. Onwhatintervals is f(x) increasing? Answer:
6. Onwhatintervalis f(x) > 3? Answer:
7. Onwhatintervalis f(x) < 3? Answer:
Numeric Algebraic Graphic
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Given the multiple representations of f(x), answer the following questions. Your answers should be the domain
values defined using bracket notation. See the example below.

Example: What is f(3) _ g(z)') My thinking: | can see in the table that f(3) =4 and g(2)=-2...s04--2=4+2=6
Answer: f(2) - g(2) = 6
8. Name the (x,y) points where f(x) = g(x)? Answer:
9. Over whatintervalis f(x) > g(x)? Answer:
10. Whatis f(0) + g(0)? Answer:
11. Whatis f(—=1) + g(—1)? Answer:
12. Which value is greater f(1) or g(2)? Answer:
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Numeric Algebraic Graphic
X F F2
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5 24 -4
0
13. What is F1(2)? Answer:
14. For what value of x does Answer:
F1(x) = F2(x)?
Is F2 of x increasing or Answer:
decreasing?
15. For what values of x is Answer:
F2(x) > F1(x)
16. On what interval is F1(x) > 5? Answer:
17. On what interval is F2(x) < 12? | Answer:
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